-3

X
=
(@]
&
o
X
=
(=]

< & ¢@>(rad)

)

< dcot(B) >
o
[
[¢)]

..............

o
iy

TTT [T I T [ TI T[T [ TT T[T I [T T[rrrt
-
=

b o b

TIT [T I T [ TI [T [ TT T[T [T T[rrrt
-
+
.

]
o
NN

1 2 3 =3 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

8 sratvector—tooeeTt
E egé %ﬁé%‘ﬁ TEORSLTLIER 1000ewt

w
| B
N
|
=
o

llll![

[y
D O O
OO

< 00, > (um)
N
(@]

— 10

a3
s
=
(@)
TIT T [T [ TIT[PP [T T[T [ TTr Tt

|IIII||IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

9
S

iy 3

2 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

w
|
N
|
[N
o
=

< opJp, > (%)

Ratio

(oS Y L LA LA LA LS AL AR RARRNLALAR RALAT LRRRS RARAN LARLE ALY

10 1 N w @1

1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


